Math 4 Classwork #9

1. Remove parentheses and simplify:

(10-3x+y)-4+(2x—-4-y)-6 =

2. Find ...
1 . 2 .
g Of 3 1S g Of 3 1S
1 1 . 2 1 .
g Of E 1S g Of EW 1S
3. Solve the equations in your notebook:
2 1 3
gX =4 gX -3=7 10 — Z y = 4
4. Calculate:
24 16 24 16
S 7 2 75 =
24 16 16 24

An absolute value of a number is the distance from the number to zero on a number

line. 5= 5; -51=15]=5; 71=7; =71=171=7
5. 2= 4] = 6+2]= 75| =
12| = 4] = -2+ (=6)| = 5-7=

6. Find all numbers such that |x| = 2, and |w| = 3
X w

-5 0 5 -5 0 5
7. Make appropriate drawings to simplify and solve equations:

144:(x+7)=6 14y —5=2 (36 -x)-4=36



Math 4 Classwork #9

Distributive property of division: (@a+b):c=a:c+b:c
Remove parentheses:

(6x+21):3=

(6x—-21):3=

(16y +28): 4 =

(16y —28): 4 =

(8x+1):2=

Bx—-2):4=

8. Questions about HW #7



